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BIOLOGICAL SCIENCE
( Botany, Zoology, Physiology )

quad) afgsaa coram “nal N ?

(A) Nerium Sp. (13) o[y | /d
(€) Pandanus Sp. (D) Beta Sp. F
Where do you find multiple epidermis ?

(A) Nerium Sp. (B) Orchid

(C) Pandanus Sp. (D) Beta Sp.
fufefeafera (@At ot arciwEbe T 2

(A) Oedogonium Sp. (B) Gelidium Sp.

(C) Nostoc Sp. | (D) Chondrus Sp.

Which one of the following is an endophytic alga ?

(A) Oedogonium (B) Gelidium Sp.
(C) Nostoc Sp. (D) Chondrus Sp.
............................. o a2fD ST R BRTSTRIRD |

A) Psilotum Sp. (B) Selaginella Sp. /

(C) Marsilea Sp. (D) Isoetes Sp.

is a homosporous pteridophyte.

(A) Psilotum Sp. (B) Selaginella Sp.

(C) Marsilea Sp. (D) Isnetes Sp. .

R Bt ZAEmeR T@T Wb T AP0 AR FE 7

(A) GAS (B) 1AA \/

(C) FARRIRF b)) EfefEe

Which of the following phytohormones play a role in fruit ripening ?
(A) GA4 * (B) IAA

(C) Cytokinin (D) Ethylene.
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5. fsBiResfe @b cenfaebe Ga tafm; 2 |

(A)  oDevizRen Y& (bl (B) 70s 4AGTA ARCACETEH
(C) i1ge wistea i Jp) 2l | v
Which of the following is a prokaryotic character ?
(A) Cell wall with peptidoglycan
(B) 70s ribozome

(C) Absence of membrane bound organelle

(D) All of these.
6. RS @ 2ol aesiEsa eifsmid @ & e S 7

JA  ABA (B) RUGRAIRMAA Y
(C) IAA - (D) qerferE |

Which of the following hormones acts as transpiration retardant ?
(A) ABA y A (B) Cytokinin

(C) IAA A | I (D) Florigen.

v (A) 2n-@ (B) 2n+2

J{é: 2n-2 | | (D). 2n+ 1. v
Tﬁe chromosome number in nullisomic plant is
(A) 21 (B) 2n+2
(C) 2n-2 | (D) 2?"" 1. K

8. ETS-a9 M4 e8Iy P FADH ,, W6 200 F3fb ATP W tof 23 2

@) 1 | - (B) 2 v
(C) 3 D) 4.

How many ATP molecules are formed from F‘4"'1I.'JH2 oxidation in termina

oxidation through ETS ?
A) 1 JBT 5
g ° (D). 4.
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10.

11.

12. S FRBFA) e (SIS AL I

Rautvolfia serpenting BlOM4 (@1 N qiazto 23 7

(A
@y

(3) W= N

(D) C@lDE “y |

Which part of the plant Rauwolfia serpentina is used ?

(A)  Flower

(C) Root

[Rodet deeniAyes Dorqrer 26
(A)  Chlorella
(C) Ulva
Non-motile colonial alga is
(A) Chlorella
(C) Ulva
Coal ball &< &P
JA) g S

(C) =< QM

Coal ball is a type of

(A) Petrified fossil

(C) Pseudo-fossil

(A) ARG
(C) TAMNS

(B) Fruit

(D) None of these.

(3] Hydrodictyon

"
(D) Volvox.
(B) Hydrodictyon
(D) Volvox.
(B) &5 ERMY
(D) AN FAF |

(B) Cast fossil

(D) Impression fossil.

(B) QTSN \/

(D) FreoEe |

GET IT ON
Google Play

Code : 05

Motile genetic elements capable of causing mutation are known as

(A) Plasmid

(C) Cosmid

(B) Transposon

(D) Mutagen.
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13. f@EsBrom) et A1 i OB

(A) Cuscuta reflexa

— — = - =

(B) Pisum sativum

|
|
5
|
|

(C) Zea mays
(D) Commelina bengalensis.
Cleistogamy is observed in .........occeeerinens
| (A) Cuscuta reflexa |
(B) Pisum sativum
(C) Zea mays

(D) Commelina bengalensis.

14,  Q$aR 49 Ao @m e @fEr 2
(B) Leguminosae

(A) Malvaceae _
(D) La}:iatae. \/

(C) Rubiaceae

? Monadelphous stamen is the characteristic of which family ?

(A) Malvaceae (B) Leguminosae

(C) Rubiaceae (D) Labiatae.

15  SET-APaAE @ (o9l @ ava 21 e
| - (B) N,O

(A) CO4 _
© PAN @) cH,.
A compound which creates photochemical smog 1s
(A) CO, (B) N,O
(C) PAN (D) CH,. "
16. CICOIP (I YT (TR ?

@A) o7 B TR

, (O e (D) Rt |

: Which kind of symptom is Mosaic ? |
(A) Necrosis ' | (B) Hypertrophy
(C) Hyperplasia (D) Hypoplasia.
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17, eifrgesie Aifere aifRutera tafm; 2ot
(A)  Q@PITINCE (A8F @0 D BB
(B) GIRETNE (B T AP QrITE
(C) GIRET @ QI 2% B AT
(D) GIREH @ GIT AP FRYE ATe |
Amphivasal bundles are characterized by the presence of
(A) Phljrzmem remaining surrounded by Xylem
(B) Xylem remaining surrounded by Phloem
(C) Phloem and Xylem forming separate bundles
(D) Xylem and Phloem being laterally present.

18. FIACIZFE TSN Tl (PN T 2A1e MY ?
(A) Rubiaceae | (B) Labiatae
(C) Compositae (D) Solanaceae.
Carcerule type of fruit is found in which family ?
(A) Rubiaceae ~ (B) Labiatae
(C) Compositae (D) Solanaceae.

10, BRIARA T S IR QIR A 2T

(A) Phytophthora Sp. ‘ (B) Pythium Sp.
(C) Puccinia Sp. (D) Penicillium Sp.
The microbe responsible for ‘damping off’ of seedling is
(ﬁ] Phytophthora Sp. (B) Pythium Sp.
(C) Puccinia Sp. (D) Penicillium Sp.

20. sREPIERS e @ 2
A) % R we e (B) 7% geeIteT W e |
@) A AR T e (D) ¥® AR Fr e |
What is a glycosidic iinkage ? |
(A) Link between two genes (B) Link between two glucoses
(C) Link between two glycogens (D) Link between two glycines.
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JA 4@’:}: B RICUA 0] ‘-”jmcq\]u (13) qﬁftp fL4ac \/
LT (41 Anarnerdl Cor 1

(€)  Feumoua sz (e (D)
What is a Sertoh cell ? _
o ecell for growing ovum
(A)  Nutritive cell for growing sperms  (B) Nutritive cel _ P .
(D) Supporting cell of testis:

(C) Supporting cell of ovary
fasyu ameqet (@14 42t a<fA1 @41 Ay ?

@) ool grb

(A) oAl Ybifayry :
(D) QA Wﬂfm_;'

(@) Bt wbfd

Binomial nomenclature is described in the book |
(A) Genera Plantarium (B) Historia Plantarium -

(C) Systema Naturae (D) ' Flora Japonica.

Nafiei fsfafis @ o DNA eifeffiess 96 2 b
(B) oSl S

) B | _
(D) SIS |

(C) CROIST I
Which of the following stages during meiosis is cﬂncernif;d with DNA replication
(A) Interphase (B) Prnpﬁasé I LRE

(C) Metaphase II (D) Anaphase.

S GIoW@ry nﬁﬂ[@ﬂﬁ‘ﬂr ﬁw AR W..W"T 3% @'&3‘5!71 | o
(A) pH %3S 23 UB)  OTETEE Smets B sifEaes =
(C) W& @ *IEA TN WTH D)~ STEIRHA Ty AT |

At high temperature, the rate of enzyme action decreases because the increasc:

heat
(A) changes the pH of the system

(3) alters the active site of the enzyme
(C) neutralizes the acid and base in the system
(D) increases the concentration of enzyme,
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25. mRNA-4 Q4 Biei=l (@14 foy (@16 04 -1 Wl@ a
AA)  RAEE¥ (13) Zhracpad
(C) a¥H~A (D) @< |

The mRNA sequences in eukaryotes, which do not code for anything are called

(A) Introns (B) Interferons
(C) Exons (D) Endons.
26, fralEfs @M wma ARIETERRI Manlbe Keie 96 2

(A) JCfASTEH Tl (13) q’ﬁﬁ Wl
(C) <ifaefs v | (D) CPHHE 7 |
Which of the following stages of spermatogenesis involves meiotic diﬁsiun ?
(A) Multiplication stage {B}. Growth stage

(C) Maturation stage (D) None of these.

27. AT GG Mg WL 2 |

(A) ST | B) PreE >
(C) eIt (D) «@TBoE |

Which one is the oldest living fish ?

(A) Acipenser (B) Coelacanth

(C) Polypterus (D) Exocoetus.

28. WM AGFATHA TCHP Pl =
(A)  TeER aETh
(B) TEREICH QTS \/

o) BRI Tt
(D) wfiaen eifber |

The blood fluke worm infected in man is

(A) Wuchereria bancrofti (B) Ancylostoma duodenale
(C) Schistosoma japonicum (D) Fasciola hepatica.
111205 9 of 20
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29,

30.

31,

DINPON 2el

(A)  Eeigonfe @ sfonfoq e e
s

(13) 4T Crw @rifoa sy 7|4

(C) ¢9 @ dfaw enfeq W 3

Rinete 2y @ W 1
(D) ez ael el QRIE eiafens e faiT

Cladistics is

(A) relationship between subspecies and species

(B) relationship between two most forward races

(C) relationship between Extinct and surv.iving species
ic relationship.

(D) method of classification that attempts to infer phylogencti

YIord il Wil U |1 O 3l

(A)  RIRTYICSTT

(B) RIBCWICGI

(C) SRS
(D) 1 w4 |

Polyp stage is not found 1n

(A) Hydrozoa (B) Scyphozoa

(C) Anthozoa (D) Sea Fur.

s e o ez ML @17 aforg w3l R 24w ofime oo zm ”

(A) QURITC
(C) smiga (D) MBI |

Which one of the following plays a dominant role in the devclupme t of
nt of a

competent immune system ?

(A) Thyroid | (B) Thymus
(C) Adrena! _ (D) Parathyroid,
111205
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30, NEIfE® CP@ Ul TCHI @ MR Tl Gite 2 ¢ 1, fay fufatae (am g
94 fao1 o wesiie e a2
(A)  DEqrafeS e (B) DiEwaiy
e
(C) AIDS (D) @ieofld |

The ratio of Helper T-cells to Supressor T-cells is normally 2 : 1. In which of the
following cases is it reversed ?
(A) Tuberculosis (B) Typhoid
(C) AIDS | (D) Cancer.
33. &S RIS (SE A HAZASY (A& Wuchereria bancrofti-a3 (1 11 Culex &4

MR Y™ W1 ?
(A) SN AR J9 RIS
{‘ﬁ/&} ALY W ARANYE NBEHFRERT

_;r (©) sy vt NIReeTFIETEta

. (D) TOY WAl NREFITIRCEA |

From peripheral circulation of infected man, in which form Wucherena bancrofti

enters into the female Culex mosquitoes ?

(A) 1st stage naked microfilaria | (B) st stage sheathed microfilaria

(C) 2nd stage microfilaria (D) 3rd stage microfilaria.

a4 @fx Bt oW Preneuea HSEaan (e CEARICET

(A) Bombyx mori (B) Antheraea mylitta >
(C) Antheraea assama _ (ED) Philosamia ricint.
Fri silk is obtained from puparium of which silkworm ?
(A) Bombyx mon (B) Antheraea mylitta
(C) Antheraea assama (D) Philosamia ricini.
(111205 | 11 of 20
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35, figile (@40 obaony 2ol - Y
vy (1rny] (Ol \/
(A)  WIeQEIeha (1B) et
gf) wrgaim |

() RoWee

Which of the following is not a steroid hormont ¢
(A) Aldosterone (B) Androgen

(C) Oestrogen (D) Thyroxine.

36. VA (BT MYl YTy

(A) WP - B) & >
(@) o (D) FEEPTC |
Kupffer’s cells are found in
(A) Pancreas | (B) Kidney
()] Liver (D) Ovary.
37. WREGIRENE (@1 N2 R RoxREfer @ ARG WfHTe Io9H 2
(A) @A (B) df2:#if o

(C) CofaNRIal~yaret 2 (D) WEGIefRguE Tl |

In which of the following parts of mitochondria, succinic dehydrogenase and

cytochrome oxidase are present ?

(A) Inner membrane (B) Outer membrane

(C) Perimitochondrial space (D) Mitochondrial matrix.

s affe Tammelm S @Al @R REi SR A 1 2
(A) CPIECDIA .
(B) CHAGTE 4G 2R

38.

| (C) Na'-K"' - ATPase

(D) cerbizmien SeaAmEa o[4ad) 4 |

Which of the following is notf found in cell membrane ?

(A) Cholesterol (B) Receptors of Steroid hormones

C) Na'-K' - ATPasc
(C) Na ATPasc (D)  Precursors of prostaglandin.
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39. AREERP RAfew siwe @R 4o wfEeia S«afafor sapm @ =fe Seom

P 7
(A) Fructose-1, 6-biphosphate —  Glyceraldechyde-3-phosphate
+ Dihydroxy acetone phosphate
(B) Glyceraldehyde-3-phosphate | — 1,3 diphosphoglycerate e
(C). 1, - 3-diphospho-glycerate —  3-phosphoglycerate
(D) Phosphoenol pyruvate —  pyruvate..

Which of the following steps in the glycolytic pathway produces maximum energy

in presence of oxygen ?
(A)  Fructose-1, 6-biphosphate —  Glyceraldehyde-3-phosphate

+ Dihydroxy acetone phosphate

(B) Glyﬂﬂraldehyﬁe—3~phusphate — 1,3 diphosphoglycerate
(C) 1, - 3-diphnsphﬂ-glyc:ﬁrate —  3-phosphoglycerate
(D) Phosphoenol pyruvate X pyruvate.
40. g afefs 4MMIAN (G 1. Tract) TRSFR g @b Mo fenifm B, faeafas 27 2
(A) ofreERr B e
(C) C&re (D) ZfeEm |
Which of the following sites of G.I. tract absorbs vitamin B, ?
(A) Stomach | | (B) Duodenum
(C) Jejunum | (D) Illeum.
41 GITH 2ISITE OO SN FE AGRE A b1fRw =
(#) 1,200 k.cal (B) 2,000 k.cal
(C) 2,400 k.cal (D) 3,000 k.cal.

The daily calorie requirement of an adult Indian male having sedentary life style

1S

(A) 1,200 k.cal (B) 2,000 k.cal
(C) 2,400 k.cal (D) 3,000 k.cal.
[111205] 13 of 20

Scanned by CamScanner


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

aAdda 247

Code : 05

42, SRENBLIB-AI IPTART 4PfS 2=

) cata o R R

(C) fResvonfefors

The chemical nature of surfactant is
(B) glycoprotein

toyl phnsphaudylchuline,

(A) protein

(C) sphingolipid (D) dipalmi

43. ﬁﬁ%ﬁ@ﬁﬂﬁf@ﬁ@ﬂﬁ"ﬂﬁw@mﬂﬂwﬁﬁr
(A) ﬁm%af‘ﬁ IBHECROE |

(B) B-IEq el afas =3
(@f maﬁawwﬁa%wﬁmﬁﬁﬁwmwﬂ
(D) AFIR THige (@R [RWe 3@ |

| . | s
Cell mediated immunity relates to which of the following statement

(A) Involves secretion of antibodies

(B) Mediated by B-cells

(C) Requires binding of a lymphocyte to a free extra-cellular antibody

(D) Directly destroys targeted cells.

279 3o (@FD AIDS (I HIV OIRAIG e (1317 G 2

(A) B-(PI¥ _

(B) (XF19E T-(F1F

e

494,

(C)  IGEFIRTST
ABGIOES 7-(FF
The main cellular target of HIV virus that causes AIDS is
(A) B-cells | (B) Helper T-cells
(C) Macrnrphages | (D) Cytotoxic T-cells.
111205
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45. Fﬁ"\!ﬂf‘q ‘lblrﬁqu O

2 N (e qpaig WYl ffqqifae 2y v
(A) AN wigw gy

(B) fFracgfaca s sNeje oo =

| (C) AP iy

| I sk (D) e ceibeia #ei Yo 2al |

| How most of the :
O is transported in the whole body through blood ?

(A) Dissolved ;
In plasma (B) Combined with haemoglobin

(C) As bica . 3
rbonate ions (D) Attached to plasma proteins.

46. & "ﬂﬁﬁﬁi‘mﬁ B EION "Fﬁa@ '

(A) RIS Sifaet Mg oy weak siftmet Rongnfer Sesm 31 2ew
(B) Sifsegig 49 zam
(R Qg s — >

(D) «fRTaenE~-9a T Mes@er T |

What is the cause for the development of pernicious anemia ?

(A) Insufficient amount of iron for the synthesis of adequate quantity of

| ' haemoglobin
(B) Destruction of bone marrow
(C) Deficiency of intrinsic factor

| (D) Inadequate erythropoietin secretion.

47 R o) BT afefe ZWPITEd (P EW (UCE SRR SRioR] a7e 3 2

(A) A-VATE (B) ~mafaig oy
AC) fRrea e | (D) WP @ A Qqrfése = |

Ventricular muscles of heart receive direct impulse from

(A) AV node (B) Purkinje fibre

Bundle of His (D) Right and Left bundle branches.

l111205| 15 of 20
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an  msfeive (e mar sanifa suferee Eeljtr &0 w1 v

(A) NP fma (B) (Adensia faa

. '"'1:1“-'-'[“‘ = | it . £ Fl"t |
(C) TEINSN M4 (D) Al gy A 4% 14
The vemn that does not directly open into heart \/
(A)  Pulmonary vein (B) Post-caval vein
‘.C] Pre-caval veln (D] Postenor mcsentt]‘ic veln.

49, GS8H WNI© 1% VARG e cafd o3 A1 s @1 oaferg 46 (ren HEE 7
(A) B B
(B) A "

(C) AB \{})1 0.
The group of blood that can be given to an injured person without checking his

blood group is
(A) B (B) A

(C) AB | (D) O.

50. fsfiRe @Hbe e 3fEE aee Sesiw 33 2
(A) TAICEDIR
(B) (RTINS (YA
(C) UG &R
(D) (2NIGIe |

Cerebrospinal fluid is formed by

(A) Duramater | (B) Choroid plexus
(C) Arachnoid villi (D) Piamater.
111205 16 of 20
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51. W@ com METaupiIfe tefae Uil w1 fofene wal 24 7
(A) eireiBe RSy B) T asfbe HTlau P
1 (C) eifauppmBae HElpuns (D) Aaicefgeta Hiizn

Which nucleus in brain is named as ‘Biological clock’?
(A)  Supraoptic nucleus
(B) Pre-optic nucleus
(C) Supra-chiasmatic nucleus
(D) Paraventricular nucleus.
52. YN DG AN N oy @ g0 Fafeifie @ alfem wioaz o 2
(A) GHIRR FY AR
(B) PRI Y &R
(C) A BRI MY &R
(D) @Rafer 7T |

Destruction of the anterior horn cells of the spi}la] chord causes loss of

(A) Sensory impulses (B) Integrating impulses

(C) Voluntary motor impulses (D) All of these.

Wm@wmwﬁquﬁﬂmm?
(A]  SGIEN (B) A
) wEPEE (D) oTfEar |

The substance in the blood where concentration directly regulates the secretion

53.

of aldosterone 1s

(A) Potassium (B) Phosphorus

(C) Calcium (D) Sodium.

111206 17 of 20
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04 (T TRINITTER MR B9 yiy aoe e an iy v

) we By

(13)  cfRulse ey
- \/
(V) i@ iag

(D) Cr=Igedisg fafsiare saon |

Miekh af : - : rnancy ?
Which of the following hormones suppresses menstruation during pregnancy

) LH (B) Chorionic Gonadotropin

(C)  Progesterone (D) Gonadotropin-releasing hormone.

55, WMellRe wawos AifeMoern wiazreuy M Rigo ol aMic 077 (T 2T0HE ol
BN Q& 2y v

(A)  Qfeas B) 4rAoe
() sifqazw (D) C14E AW |

In temperate climate under normal condition, the maximum heat loss of body

takes place through

(A) Radiation (B) Evaporation
(C) Conduction (D) None of these.
111205] 18 of 20
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| 1st STATE LEVEL SELECTION TEST FOR RECRUITMENT OF ASSISTANT TEACHERS
, 2016 (FOR HIGHER SECONDARY CLASSES XI-XII)
DATE OF EXAMINATION - 04/12/2016
SUBJECT - BIOLOGICAL SCIENCE (PG)
ANSWER KEYS
Question No. Question No. Question No.
01.(A) 2. (A) i (<)
02.(c) 2. (C) 2. (o)
03.(A) 2. (A) 43. (D)
I M. (D) 24. (B) 44. (8)
05.(D) 25. (A) 45. (8)
06.(A) 2. (<) 6. (<)
07.(e) 27. (B) 47. (8)
08.( &) 28, (<) 48. (P)
09.( e) 29. (D) 9. (0)
10. () 30. (B) 50. (@)
| 1. (A) 3. (B) 51. (¢ )
12.(0) 2. (C) 52. (¢ )
13.(p ) B (B) 53. ()
14.(A) #. (D) 5. (¢ )
|
15. (&) 35. (D) 55. (A )
16.(p ) 3. (C)
17.(A) 37. (A)
18.(B) "<38. (8B)
(8 ) 39. (8)
20. (B) 40. (») gP-............
_(—Chn-:lmnn}
WBSSC
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